CYLINDERS
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1.
6 Jeremy has 1o cover 3 tanks completely with paint. +— | i —
=
Eaxch tank is in the shape of a cylinder with a top and a botiom. —
The tank has a diameter of 1.6m amd a beaght of 1.8m
Jereimy has T tins of paint. L& m
Each tin of paint covers 5 m? :
Has Jeremy gof enough paint 1o cover completely the 3 tanks?
Yoo must show how you gel your answer. L amam o REEE .
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[ Total for Question & i 5 marks)
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2.

14 The base of a cone is fixed to the top of a cylindar fo make a decoration.

The radius of the basa of tha cona and of the cylinder is rem.
The cone's haight is Srcm.
The fotal height of the decoration is Brom.

The fotal volume of the decoration is 2255m3.

Calculate the value of r.
Show your working.

1
[The volume V of a cone with radius rand height his V= Efrrzh.]
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3.

6 The diagram shows a cylinder and a sphere.

30em

The cylinder has radius 12 cm and haight 30cm.
The cylinder and the sphare have tha same voluma.

‘Work out tha radius rcm of the sphera.

[The volume V of a sphere with radius ris V %11’31
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4.

19 Two cylinders, A and B, are mathematically similar.

Cylinder A has volume 2400cm® and height 12cm.
Cylinder B has volume 750cm?.

Find the height of cylinder B.
Give your answer correct fo an appropriate degree of accuracy.



